Programs Group	Annual No. of Respondents	Total Annual Responses	Annual Burden Hours	Dollar Value of Annual Burden Hours
12.1 NAWCA	397	568	18,100	\$745,382.64
12.2 NMBCA	128	146	4,622	\$108,557.50
12.3 International Affairs	597	818	18,501	\$509,048.30
12.4 All Other Programs	13,907	14,816	360,963	\$19,557,660.49
12.5 50 CFR Additional	170	822	900	\$53,892.03
TOTAL:	15,199	17,170	403,086	\$20,974,540.96

Burden Changes	Total Annual Responses	Annual Burden Hours
12.3 International Affairs	-1	-32
12.4 All Other Programs	381	11,220
12.5 50 CFR 80 Additional	766	228
TOTAL:	1,146	11,416

Assistance Listing Number and Title	Annual No. of Respondents	Number of Submissions Each	Total Annual Responses	Completion Time per Response (Hours)	Annual Burden Hours	Hourly Labor Costs (Incl. Benefits)	Dollar Value of Annual Burden Hours
15.623 North American Wetlands Conservation F	und (NAWCA)				•		
Applications - U.S. Small Grant							
Individuals	1	1	1	40	40	43.93	\$1,757.20
Private Sector	54	1	54	40	2,160	41.53	\$89,704.80
Government	16	1	16	40	640	59.90	\$38,336.00
Subtotals:	71		71		2,840		\$129,798.00
Applications - U.S. Standard Grant					, , , , , , , , , , , , , , , , , , ,		
Individuals	1	1	1	100	100	43.93	\$4,393.00
Private Sector	53	1	53	100	5,300	41.53	\$220,109.00
Government	15	1	15	100	1,500	59.90	
Subtotals:	69		69		6,900		\$314,352.00
Applications - Canada/Mexico Standard Grant							. ,
Individuals - Mexico	1	1	1	80	80	16.01	\$1,280.80
Private Sector - Canada	9	1	9	80	720	32.82	\$23,630.40
Private Sector - Mexico	13	1	13	80	1,040	15.18	
Government - Mexico	4	1	4	80	320	21.55	
Subtotals:	27		27		2,160		\$47,594.40
Amendments							. ,
Individuals	8	1	8	3	24	43.93	\$1,054.32
Private Sector	8	1	8	3	24	41.53	
Government	8	1	8	3	24	59.90	\$1,437.60
Individuals - Mexico	4	1	4	3	12	16.01	\$192.12
Private Sector - Canada	4	1	4	3	12	32.82	\$393.84
Private Sector - Mexico	4	1	4	3	12	15.18	
Government - Mexico	4	1	4	3	12	21.55	\$258.60
Subtotals:	40		40		120		\$4,515.36
Quarterly Performance Reports							. ,
Individuals							
Reporting				6	48	43.93	\$2,108.64
Recordkeeping	2	4	8	2	16	43.93	
Private Sector				_			*******
Reporting				6	768	41.53	\$31,895.04
Recordkeeping	32	4	128	2	256	41.53	
Government				_		12.00	+10,001.00
Reporting				6	240	59.90	\$14,376.00
Recordkeeping	10	4	40	2	80	59.90	
Individuals - Mexico					00	37.70	ψ1,772.00
Reporting				6	24	16.01	384.24
Recordkeeping	1	4	4	2	8	16.01	
Private Sector - Canada						10.01	123.00
Reporting				6	144	32.82	4,726.08
Recordkeeping	6	4	24	2	48	32.82	· ·
Private Sector - Mexico					+0	52.02	1,575.50
Reporting				6	120	15.18	1,821.60
Керогинд	5	1	20	<u> </u>	120	15.10	1,021.00

NAWCA:	397		568		18,100		\$745,382.64
ubtotals:	133		133		4,256		\$174,684.48
				8	16	21.55	344.80
	2	1	2	24	48	21.55	1,034.40
		<u> </u>		'		' '	
	10		10	8	80	15.18	1,214.40
	10	1	10	24	240	15.18	3,643.20
						' '	
	10	1	10	8	80	32.82	2,625.60
	10	1	10	24	240	32.82	7,876.80
	2		2	8	16	16.01	256.16
	^		2	24	48	16.01	768.48
	20	1	20	8	160	59.90	\$9,584.00
				24	480	59.90	\$28,752.00
	85	1	85	8	680		\$28,240.40
	0-		0.5	24	2,040	41.53	\$84,721.20
							, , ==
	4	1	4	8			\$1,405.76
				24	96	43.93	\$4,217.28
abtotais.	37		220		1,024		φ/ τ,του.το
uhtotals	57		228	2		21.55	\$74,438.40
	1	4	4				172.40
<u> </u>		T T		4	24	21.55	517.20
	Subtotals: Subtotals: NAWCA:	4 85 20 2 10 10 2 subtotals: 133	4		2 2 2 2 2 2 2 2 2 2	1	1 4 4 2 8 21.55

Assistance Listing Number and Title	Annual No. of Respondents	Number of Submissions Each	Total Annual Responses	Completion Time per Response (Hours)	Annual Burden Hours	Hourly Labor Costs (Incl. Benefits)	Dollar Value of Annual Burden Hours
15.635 Neotropical Migratory Bird Conservation	on (NMBCA)						
Applications							
Individuals	1	1	1	60	60	43.93	\$2,635.80
Private Sector	20	1	20	60	1,200	41.53	\$49,836.00
Government	1	1	1	60	60	59.90	\$3,594.00
Individuals-Foreign	1	1	1	60	60	10.82	\$649.20
Private Sector-Foreign	30	1	30	60	1,800	10.26	\$18,468.00
Government-Foreign	1	1	1	60	60	14.56	\$873.60
Subtotals:	54		54		3,240		\$76,056.60
Amendments							
Individuals	1	1	1	3	3	43.93	\$131.79
Private Sector	15	1	15	3	45	41.53	\$1,868.85
Government	1	1	1	3	3	59.90	\$179.70
Foreign - Individuals	1	1	1	3	3	10.82	\$32.46
Foreign - Private Sector	15	1	15	3	45	10.26	\$461.70
Foreign - Government	1	1	1	3	3	14.56	\$43.68
Subtotals:	34		34		102		\$2,718.18
Quarterly Performance Reports							
Individuals							
Reporting	4	4	4	6	24	43.93	\$1,054.32
Recordkeeping	1	4	4	2	8	43.93	\$351.44
Private Sector							
Reporting	1	4	4	6	24	41.53	\$996.72
Recordkeeping	1	4	4	2	8	41.53	\$332.24
Government							
Reporting	1	4	4	6	24	59.90	\$1,437.60
Recordkeeping	1	4	4	2	8	59.90	\$479.20
Foreign - Individuals							
Reporting	1	4	4	6	24	10.82	\$259.68
Recordkeeping	1	7	7	2	8	10.82	\$86.56
Foreign - Private Sector							
Reporting	1	4	4	6	24	10.26	\$246.24
Recordkeeping	1	4	4	2	8	10.26	\$82.08
Foreign - Government							
Reporting	1	4	4	6	24	14.56	\$349.44
Recordkeeping		7		2	8	14.56	\$116.48
Subtotals:	6		24		192		\$5,792.00
Annual Performance Reports							
Individuals							
Reporting	1	1	1	24	24	43.93	\$1,054.32
Recordkeeping			•	8	8	43.93	\$351.44
Private Sector							
Reporting	10	1	10	24	240	41.53	\$9,967.20
Recordkeeping	10		10	8	80	41.53	\$3,322.40
Government							
Reporting	1	1	1	24	24	59.90	\$1,437.60

Recordkeeping	1		1	8	8	59.90	\$479.20
Foreign - Individuals							
Reporting	1	1	1	24	24	10.82	\$259.68
Recordkeeping	1	_	1	8	8	10.82	\$86.56
Foreign - Private Sector							
Reporting	20	1	20	24	480	10.26	\$4,924.80
Recordkeeping	20	1	20	8	160	10.26	\$1,641.60
Foreign - Government							
Reporting	1	1	1	24	24	14.56	\$349.44
Recordkeeping	1	_	1	8	8	14.56	\$116.48
Subtotals:	34		34		1,088		\$23,990.72
TOTAL NMBCA:	128		146		4,622		\$108,557.50

	Annual No. of	Number of		Completion Time per	Annual Purden	Hourly Labor Costs	Dollar Value of Annual
Assistance Listing Number and Title	Respondents	Submissions Each	Total Annual Responses	Response (Hours)	Hours	(Incl. Benefits)	Burden Hours
15.619 Rhinoceros and Tiger Conservation Fund							
15.620 African Elephant Conservation Fund							
15.621 Asian Elephant Conservation Fund							
15.629 Great Apes Conservation Fund							
15.640 Wildlife Without Borders- Latin America and the Caribbean							
15.645 Marine Turtle Conservation Fund							
15.651 Wildlife Without Borders-Africa							
15.679 Combating Wildlife Trafficking							
Applications							
Individuals	3	1	3	22	66	43.93	\$2,899.38
Private Sector	200	1.545	309	22	6,798	41.53	282,320.94
Government	8	1	8	22	176	59.90	10,542.40
Foreign - Individuals	3	1	3	22	66	10.82	\$714.12
Foreign - Private Sector	150	1.545	232	22	5,104	10.26	52,367.04
Foreign - Government	15	1	15	22	330	14.56	4,804.80
Subtotals:	379		570		12,540		\$353,648.68
Amendments					•		
Individuals	1	1	1	3	3	43.93	\$131.79
Private Sector	15	1	15	3	45	41.53	1,868.85
Government	2	1	2	3	6	59.90	359.40
Foreign - Individuals	1	1	1	3	3	10.82	\$32.46
Foreign - Private Sector	12	1	12	3	36	10.26	369.36
Foreign - Government	4	1	4	3	12	14.56	174.72
Subtotals:	35		35		105		\$2,936.58
Quarterly Performance Reports							
Individuals							
Reporting	1	4	4	6	24	43.93	\$1,054.32
Recordkeeping	1	4	4	2	8	43.93	\$351.44
Private Sector							
Reporting	3	4	12	6	72	41.53	\$2,990.16
Recordkeeping	3		12	2	24	41.53	\$996.72
Government							
Reporting	1	4	4	6	24	59.90	
Recordkeeping	1	7	4	2	8	59.90	\$479.20
Foreign - Individuals							
Reporting	1	4	4	6	24	10.82	\$259.68
Recordkeeping	1	7	4	2	8	10.82	\$86.56
Foreign - Private Sector							
Reporting	3	4	12	6	72	10.26	
Recordkeeping	3		12	2	24	10.26	\$246.24
Foreign - Government							
Reporting	1	4	4	6	24	14.56	· ·
Recordkeeping				2	8	14.56	
Subtotals:	10		40		320		\$9,106.56
Annual Performance Reports							
Individuals							
Reporting	2	1	2	24	48	43.93	
Recordkeeping	۷	1	2	8	16	43.93	\$702.88
Private Sector							
Reporting	75	1	75	24	1,800	41.53	\$74,754.00
	• •	•	• •				

	15		, , ,				
Recordkeeping	, •	_	, ,	8	600	41.53	\$24,918.00
Government							
Reporting	5	1	5	24	120	59.90	\$7,188.00
Recordkeeping		1		8	40	59.90	\$2,396.00
Foreign - Individuals							
Reporting	2	1	2	24	48	10.82	\$519.36
Recordkeeping	2	_	2	8	16	10.82	\$173.12
Foreign - Private Sector							
Reporting	79	1	79	24	1,896	10.26	\$19,452.96
Recordkeeping	/ 7	_	/ /	8	632	10.26	\$6,484.32
Foreign - Government							
Reporting	10	1	10	24	240	14.56	\$3,494.40
Recordkeeping	10	1	10	8	80	14.56	\$1,164.80
Subtotals:	173		173		5,536		\$143,356.48
Totals:	597		818		18,501		\$509,048.30

Removed 15.641 Wildlife Without Borders-Mexico from 12.3 International Affairs Assistance Listings. Pr

IC Title	Current Responses
Annual Performance Reports - International Affairs (Foreign - Private Sector)	80
Total Chang	ge

ogram archived on SAM.gov in FY23.

Current Hours	Updated Responses	Updated Hours
2560	79	2528
	-1	-32

Change Description

Removed 1 annual respondant. 15.641 archived. At last renewal, only 1 award to foreign non-profit remained pending submission of closeout reporting.

5.605 Sport Fish Restoration (50 CFR 80) 5.608 Fish and Wildlife Management Assistance (BIL fi 5.611 Wildlife Restoration and Basic Hunter Education 5.614 Coastal Wetlands Planning, Protection and Resi	unding)						
5.611 Wildlife Restoration and Basic Hunter Education 5.614 Coastal Wetlands Planning, Protection and Res	anung)						
5.614 Coastal Wetlands Planning, Protection and Res							
	toration						
5.615 Cooperative Endangered Species Conservation	Fund						
5.616 Clean Vessel Act (50 CFR 85)							
5.622 Sportfishing and Boating Safety Act (50 CFR 80)							
5.626 Enhanced Hunter Education and Safety (50 CFR	80)						
5.628 Multistate Conservation Grant 5.630 Coastal							
5.631 Partners for Fish and Wildlife (BIL funding)							
5.634 State Wildlife Grants							
5.636 Alaska Subsistence Management							
5.637 Migratory Bird Joint Ventures (BIL funding)							
5.639 Tribal Wildlife Grants							
5.643 Alaska Migratory Bird Co-Management Council							
5.647 Migratory Bird Conservation							
5.648 Central Valley Project Improvement Act 5.649 Service Training and Technical Assistance (inacti	ve program: col	lection limited to	nost-award requiremen	te)			
5.650 Research Grants (inactive program; collection lin				16)			
5.652 Invasive Species (inactive program; collection lin	nited to post-aw	ard requirements	j –				
5.653 National Outreach and Communication							
.654 National Wildlife Refuge System Enhancements	(BIL funding)						
.655 Migratory Bird Monitoring, Assessment and Co	nservation (BIL f	funding)					
.657 Endangered Species Recovery Implementation (.658 Natural Resource Damage Assessment, Restora	BIL funding)						
.660 Candidate Species Conservation (BIL funding)	tion and implei	nentation					
.661 Lower Snake River Compensation Plan							
.662 Great Lakes Restoration							
.663 NFWF-USFWS Conservation Partnership							
.664 Fish and Wildlife Coordination and Assistance (BIL funding)						
.665 National Wetlands Inventory							
.666 Endangered Species Conservation-Wolf Livesto	CK Loss Compen	isation and Preve	nπon				
.667 Highlands Conservation .668 Coastal Impact Assistance (sunset program; colle	ection limited to	nost-award requi	irements)				
.669 Cooperative Landscape Conservation (BIL funding			irements)				
670 Adaptive Science (RIL funding)	., previously III	active)					
670 Adaptive Science (BIL funding) 671 Yukon River Salmon Research and Managemen	t Assistance						
674 National Fire Plan-Wildland Urban Interface Cor	nmunity Fire As	ssistance (BIL fund	ling)				
.676 Youth Engagement, Education, and Employmen	t (BIL funding)	(2.2.3110					
.677 Hurricane Sandy Disaster Relief Activities-FWS (BIL funding)						
.678 Cooperative Ecosystem Studies Units (inactive p	rogram; collecti	ion limited to post	-award requirements)				
.680 Mexican Wolf Recovery							
.681 Cooperative Agriculture							
.682 Experienced Services							
.683 Prescott Marine Mammal Rescue Assistance .684 White-nose Syndrome National Response Imple	amentation						
685 National Fish Passage (prior to FY23, reported a	s 15 608 subpro	aram: BII funding	1				
686 National Fish Habitat Partnership (prior to FY23	renorted as 15	608 subprogram) 				
lications	,	Julipi ogramj					
ndividuals	123	1	123	37	4,551	43.93	\$199,9
Private Sector	1,122	1	1,122	37	41,514	41.53	4 70 4 0
						41.50	1,724,0
	2,800	1	2,800	37	103,600	59.90	6,205,6
oreign - Individuals	1	1	1	37	103,600 37	59.90 10.82	6,205,6 \$4
Foreign - Individuals Foreign - Private Sector	1 11	1	2,800 1 11 5	37 37	103,600 37 407	59.90 10.82 10.26	6,205,6 \$4 4,1
Foreign - Individuals Foreign - Private Sector	1 11 5	1	1 11	37	103,600 37	59.90 10.82	6,205,6 \$4 4,1 2,6
Foreign - Individuals Foreign - Private Sector Foreign - Government Subtotals	1 11 5	1	1 11 5	37 37	103,600 37 407 185	59.90 10.82 10.26	6,205,6 \$4 4,1 2,6
Greign - Individuals Greign - Private Sector Greign - Government Subtotals endments	1 11 5	1	1 11 5	37 37	103,600 37 407 185	59.90 10.82 10.26	6,205,6 \$4 4,1 2,6 \$8,136,9
Foreign - Individuals Foreign - Flivate Sector Foreign - Government Subtotals endments Individuals	1 11 5 4,062	1 1 1	1 11 5 4,062	37 37 37	103,600 37 407 185 150,294	59.90 10.82 10.26 14.56	6,205,6 \$4 4,1 2,6 \$8,136,9
Foreign - Individuals Foreign - Finds sector Foreign - Government Subtotals endments Individuals Finds - Government Subtotals Finds - Government Subtotals Finds - Government Subtotals Finds - Government Subtotals	1 11 5 4,062	1 1 1	1 11 5 4,062	37 37 37 37	103,600 37 407 185 150,294	59.90 10.82 10.26 14.56	6,205,6 \$4 4,1 2,6 \$8,136,9 \$14,6
Foreign - Individuals Foreign - Government Subtotals endments Individuals Private Sector Operation - Government Subtotals Operation - Oper	1 11 5 4,062	1 1 1 1 1	1 11 5 4,062	37 37 37 37	103,600 37 407 185 150,294	59.90 10.82 10.26 14.56 43.93 41.53	6,205,6 \$44 4,1 2,6 \$8,136,9 \$14,6 119,7 452,4
oreign - Individuals oreign - Grave Sector oreign - Government Subtotals endments dividuals oreign - Individuals oreign - Individuals oreign - Individuals oreign - Finite Sector	1 11 5 4,062 111 961 2,518 1 5	1 1 1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1	37 37 37 37 3 3 3 3 3 3	103,600 37 407 185 150,294 333 2,883 7,554 3 15	59,90 10.82 10.26 14.56 43.93 41.53 59,90 10.82 10.26	6,205,6 \$4 4,1 2,6 \$8,136,9 \$14,6 119,7 452,4 \$
Foreign - Individuals Foreign - Finds Sector Foreign - Government Subtotals endments mividuals rividus - Sector Government Government Foreign - Individuals Foreign - Piñate Sector Foreign - Finds Sector Foreign - Finds Sector	1 11 5 4,062 111 961 2,518 1 5	1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1 5	37 37 37 37 3 3 3 3	103,600 37 407 185 150,294 333 2,883 7,554 3 15	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.82	6,205,6 \$4 4,1 2,6 \$8,136,9 \$14,6 119,7 452,4 \$ 1
oreign - Individuals oreign - Government Subtotals endments subtotals endmiduals riviate Sector overnment overnment overnment overnment oreign - Private Sector oreign - Private Sector soreign - Government Subtotals	1 11 5 4,062 111 961 2,518 1 5	1 1 1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1	37 37 37 37 3 3 3 3 3 3	103,600 37 407 185 150,294 333 2,883 7,554 3 15	59,90 10.82 10.26 14.56 43.93 41.53 59,90 10.82 10.26	6,205,6 \$4 4,1 2,6 \$8,136,9 \$14,6 119,7 452,4 1
oreign - Individuals oreign - Frivate Sector oreign - Government Subtotals endments dividuals 'rivate Sector Jovernment oreign - Individuals oreign - Individuals oreign - Individuals oreign - Individuals oreign - Frivate Sector oreign - Government Subtotals suterly Performance Reports	1 11 5 4,062 111 961 2,518 1 5	1 1 1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1 5	37 37 37 37 3 3 3 3 3 3	103,600 37 407 185 150,294 333 2,883 7,554 3 15	59,90 10.82 10.26 14.56 43.93 41.53 59,90 10.82 10.26	6,205,6 \$4 4,1 2,6 \$8,136,9 \$14,6 119,7 452,4 1
Foreign - Individuals Foreign - Government subtotals endments dividuals Frivate Sector Foreign - Individuals Foreign - Government subtotals subtotals widduals	1 11 5 4,062 111 961 2,518 1 5	1 1 1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1 5	37 37 37 37 3 3 3 3 3 3 3	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.82 10.26	6,205,6 \$4 4,1 2,6 \$8,136,9 \$14,6 119,7 452,4 \$ 1 1 \$587,1
Foreign - Individuals Foreign - Private Sector Foreign - Government Subtotals endments Individuals Frivate Sector Foreign - Individuals Frivate Sector Foreign - Individuals Foreign - Individuals Foreign - Individuals Foreign - Frivate Sector Foreign - Foreign - Government Subtotals Surterly Performance Reports Foreign - Foreign - Government Subtotals Foreign - Foreign - Government Subtotals Foreign - Foreign - Government Foreign - Foreign - Government Subtotals Foreign - Government Subtotals Foreign - Government Foreign - Government Subtotals Foreign - Government Foreign - Gov	1 11 5 4,062 111 961 2,518 1 5	1 1 1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1 5	37 37 37 37 3 3 3 3 3 3 3 3	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797	59,90 10.82 10.26 14.56 43.93 41.53 59,90 10.82 10.26 14.56	6,205,6 \$4 4,1 2,6,6 \$8,136,9 \$14,6 119,7 452,4 1 1 \$587,1
roreign - Individuals ororeign - Rovate Sector ororeign - Government subtotals endments midviduals riviate Sector Government Government Government Government Government Government Government Government Subtotals statistic Sector Government Subtotals statistic Sector Government Subtotals statistic Sector Government Subtotals statistic Sector Government Government Subtotals statistic Sector Government Government Government Subtotals statistic Sector Government Gov	1 11 5 4,062 111 961 2,518 1 5 3 3 3,599	1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1 5 5 3 3,599	37 37 37 37 3 3 3 3 3 3 3	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.82 10.26	6,205,6 \$4 4,1 2,6,6 \$8,136,9 \$14,6 119,7 452,4 1 1 \$587,1
oreign - Individuals oreign- Private Sector oreign- Covernment strety Performance Reports viduals ortery Performance Reports viduals ortery Performance Reports viduals second Record Re	1 11 5 4,062 111 961 2,518 1 5 3 3 3,599	1 1 1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 1111 961 2,518 1 5 5 3 3,599	37 37 37 37 3 3 3 3 3 3 3 3 3	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.82 10.26 14.56	6,205,6 \$4 4,1 2,6,6 \$8,136,9 \$14,6 119,7 452,4 \$ 1 1 1,5 \$587,1
roreign - Individuals ororeign - Private Sector orosign - Government subtotals endments midviduals riviate Sector overnment overnment overnment overnment overnment subtotals roreign - Individuals overnign - Individuals overnign - Oreign - Individuals overnign - Overnment Subtotals	1 11 5 4,062 111 961 2,518 1 5 3 3 3,599	1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1 5 5 3 3,599	37 37 37 3 3 3 3 3 3 3 3 3 4 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 3 15 9 10,797	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.82 10.26 14.56	6,205,6 \$4 4.1.1 2,6 \$8,136,9 \$14,6 119,7 452,4 \$ 1 1 \$587,1 \$10,5 \$3,5
oreign - Individuals oreign- Private Sector oreign- Private Sector oreign- Private Sector oreign- Government Subtotals endments dividuals riviate Sector oreign- Government oreign- Individuals oreign- Individuals oreign- Government Subtotals utealy Performance Reports viduals lecordiceping decordiceping decordiceping decordiceping decordiceping decordiceping decordiceping decordiceping decordiceping decordiceping	1 11 5 4,062 111 961 2,518 1 5 3 3 3,599	1 1 1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 1111 961 2,518 1 5 5 3 3,599	37 37 37 37 3 3 3 3 3 3 3 3 3	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.82 10.26 14.56	6,205,6 \$4 4.1.1 2,6 \$8,136,9 \$14,6 119,7 452,4 \$ 1 1 \$587,1 \$10,5 \$3,5
oreign - Individuals oreign - Private Sector oreign - Private Sector oreign - Government Subtotals endments dividuals viviate Sector oreign - Individuals viviate Sector oreign - Individuals oreign - Private Sector oreign - Individuals oreign - Overnment Subtotals suterly Performance Reports vividuals leacord Recepting the Sector the Secto	1 11 5 4,062 111 961 2,518 3 3 3,599	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1 5 3 3,599	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797 240 80	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.82 10.26 14.56 43.93 43.93 43.93 43.93 43.93 41.53	6,205,6 \$4 4,1,1 2,6 \$8,136,9 \$14,6 119,7 452,4 \$ \$ \$587,1 \$587,1 \$557,1 \$557,1
orceign - Individuals contents	1 11 5 4,062 111 961 2,518 1 5 3 3 3,599	1 1 1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 1111 961 2,518 1 5 5 3 3,599	37 37 37 37 3 3 3 3 3 3 3 3 3 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797 10,797	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.82 10.26 14.56 43.93 43.93 43.93 43.93 41.53	6,205.6 \$4 4.1.1 2.6 \$8,136,9 \$14,6 119.7 452,4 \$587,1 \$10.5 \$3.5 \$75.7 \$25.2 \$306,2
roreign - Individuals roreign - Government subtotals endments end	1 11 5 4,062 111 961 2,518 3 3 3,599	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1 5 3 3,599	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797 240 80	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.82 10.26 14.56 43.93 43.93 43.93 43.93 43.93 41.53	6,205.6 \$4 4.1.1 2.6 \$8,136,9 \$14,6 119.7 452,4 \$587,1 \$10.5 \$3.5 \$75.7 \$25.2 \$306,2
oreign - Individuals oreign- Private Sector oreign- Private Sector oreign- Private Sector oreign- Government Subtotals endments didividuals invitate Sector oreign- Individuals oreign- Individuals oreign- Individuals oreign- Government Subtotals strety Performance Reports vividuals second seeping decond seeping decond seeping endment spectrifie spec	1 11 5 4,062 111 961 2,518 1 5 3 3,399 10	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 1111 961 2.518 1 1 5 3 3 3,599 40 40 852	37 37 37 37 3 3 3 3 3 3 3 3 3 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797 10,797	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.82 10.26 14.56 43.93 43.93 43.93 43.93 41.53	6,205,6 \$4 4.1,1 2,6 \$8,136,9 \$14,6 \$119,7,7 452,4 \$ \$ 1 \$1587,1 \$10,5 \$3,5 \$75,7 \$25,2 \$306,2 \$102,0
oreign - Individuals oreign- Private Sector oreign- Private Sector oreign- Private Sector oreign- Private Sector oreign- Brivate Sector oreign- Government subtotals orerement oreign- Individuals oreign- Individuals oreign- Government Subtotals oreign- Government Subtotals or	1 11 5 4,062 111 961 2,518 3 3 3,599	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 111 961 2,518 1 5 3 3,599	37 37 37 37 3 3 3 3 3 3 3 3 3 3 2 6 2	103,600 37 407 185 150,294 333 2,283 7,554 3 15 9 10,797 240 80 1,824 608	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.26 14.56 43.93 43.93 43.93 43.93 41.53 59.90 59.90 59.90	6,205,6 44,1,1 2,6 \$8,136,9 \$14,6 \$14,7 452,4 \$ \$ 119,7 \$587,1 \$10,5 \$3,5 \$3,5 \$75,7 \$25,2 \$306,2 \$102,0
oreign - Individuals ororign - Private Sector orosign - Government Subtotals endments didividuals Private Sector Sovernment Overnment Overnment Overnment Overnment Subtotals Private Sector Sovernment Subtotals	1 11 5 4,062 111 961 2,518 1 5 3 3,399 10	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 1111 961 2.518 1 1 5 3 3 3,599 40 40 852	37 37 37 37 3 3 3 3 3 3 3 3 4 6 2 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 1 15 9 10,797 240 80 1,824 608 5,112 1,704	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.82 10.26 14.55 43.93 43.93 41.53 41.53 59.90 10.82 10.26 14.55	6,205,6 \$44,4 4,1 2,6 \$8,134,9 \$114,6 119,7 452,4 4 5,2 \$10,5 \$3,5,5 \$3,5,5 \$25,2 \$306,2 \$102,0 \$25,2 \$306,
oreign - Individuals oreign- Private Sector oreign- Individuals orerment Observment Observment Subtotals orerign- Individuals orerign- Observment Subtotals oreign- Government Observation- Government Subtotals oreign- Government Observation- Government	1 11 5 4,062 1111 961 2,518 1 1 5 3 3 3,599 10	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 111 961 2.518 1 1 5 3 3 3,599 40 304	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797 240 80 1,824 608	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.26 14.56 14.56 14.56 14.56 14.56 14.56 14.56 14.56 14.50 14.50 15.50 16.70 16	6,205,6 4,1 4,1 2,6 \$1,36,9 \$14,6 119,7 452,4 1 1 1,1 \$587,1 \$10,5 \$3,5 \$3,5 \$3,5 \$10,2,0 \$10,2,0 \$10,2,0 \$2,2 \$2,2 \$2,2 \$2,2 \$2,2 \$2,2 \$2,2
oreign - Individuals oreign - Forder Sector oreign - Forder Sector oreign - Forder Sector oreign - Government Subtotals ordered Sector Oreign - Individuals oreign - Forder Sector oreign - Government Subtotals arterly Performance Reports ividuals expecting execordeceping	1 11 5 4,062 111 961 2,518 1 5 3 3,399 10	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 1111 961 2.518 1 1 5 3 3 3,599 40 40 852	37 37 37 37 3 3 3 3 3 3 3 3 4 6 2 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 1 15 9 10,797 240 80 1,824 608 5,112 1,704	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.82 10.26 14.55 43.93 43.93 41.53 41.53 59.90 10.82 10.26 14.55	6,205,6 4,1 4,1 2,6 \$1,36,9 \$14,6 119,7 452,4 1 1 1,1 \$587,1 \$10,5 \$3,5 \$3,5 \$3,5 \$10,2,0 \$10,2,0 \$10,2,0 \$2,2 \$2,2 \$2,2 \$2,2 \$2,2 \$2,2 \$2,2
oreign - Individuals oreign- Private Sector oreign- Private Sector oreign- Private Sector oreign- Covernment Subtotals endments dividuals invitate Sector oreign- Individuals oreign- Individuals oreign- Individuals oreign- Government Subtotals atterly Performance Reports withdads leaporting eccordiceping eccordiceping eccordiceping ermment leaporting lecordiceping ermment lecordiceping eccordiceping elgn- Private Sector lepporting lecordiceping elgn- Covernment	1 11 5 4,062 1111 961 2,518 1 1 5 3 3 3,599 10	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 111 961 2.518 1 1 5 3 3 3,599 40 304	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797 240 80 1,824 608 5,112 1,704	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.82 10.26 14.56 14.59 43.93 43.93 41.53 59.90 50 50 50 50 50 50 50 50 50 50 50 50 50	6,205,6,4 4,1,4,1 4,1,
oreign - Individuals oreign - Private Sector oreign - Private Sector oreign - Private Sector oreign - Individuals oreign - Overnment Subtotals orterly Performance Reports violations orterly Performance Reports orterly Performance Reports violations orterly Performance Reports ort	1 11 5 4,062 1111 961 2,518 1 1 5 3 3 3,599 10	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 111 961 2.518 1 1 5 3 3 3,599 40 304	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2 2 6 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 1 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.26 14.55 43.93 41.53 43.93 43.93 41.53 41.53 41.53 41.53 41.53 41.53 41.53	6,205,6,404,41,14,14,14,14,14,14,14,14,14,14,14,14
oreign - Individuals oreign- Private Sector oreign- Private Sector oreign- Private Sector oreign- Covernment Subtotals endments dividuals invitate Sector oreign- Individuals oreign- Individuals oreign- Individuals oreign- Covernment Subtotals atterly Performance Reports viduals supporting tecordiceping tele Sector secordiceping endment secordiceping	1 1 11 5 5 4,062 1 111 961 1 1 1 5 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 111 961 12518 1 1 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.82 10.26 14.56 14.59 43.93 43.93 41.53 59.90 50 50 50 50 50 50 50 50 50 50 50 50 50	6,205,6,405,
oreign - Individuals oreign- Private Sector oreign- Private Sector oreign- Private Sector oreign- Covernment Subtotals dividuals viviate Sector oreign- Government Subtotals oreign- Individuals oreign- Frivate Sector oreign- Private Sector oreign- Government Subtotals Subtotals Subtotals Subtotals Subtotals Subtotals Subtotals Subtotals Subtotals	1 1 11 5 5 4,062 1 111 961 1 1 1 5 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 111 961 12.518 1 5 3 3 3.599 140 1552 14	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2 2 6 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 1 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.26 14.55 43.93 41.53 43.93 43.93 41.53 41.53 41.53 41.53 41.53 41.53 41.53	6,205,6,405,
orcingin - Individuals cortingin - Private Sector cortingin - Private Sector cortingin - Covernment Subtotals endments dividuals invitate Sector cortingin - Individuals cortingin - Individuals cortingin - Private Sector cortingin - Covernment Subtotals succept - Subtotals	1 1 11 5 5 4,062 1 111 961 1 1 1 5 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 111 961 12518 1 1 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2 2 6 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.26 14.55 43.93 41.53 43.93 43.93 41.53 41.53 41.53 41.53 41.53 41.53 41.53	6,205,6,405,
oreign - Individuals orenign - Private Sector oreign - Overnment oreign - Individuals oreign - Individuals oreign - Covernment Subtotals orterign - Covernment Subtotals orterign - Covernment Subtotals orterign - Covernment Subtotals orterign - Covernment Overnment Over	1 1 1 1 1 5 5 6 6 6 6 6 6 6 6 6 6 6 6 6	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 1111 961 12,518 1 5 3 3,399 40 40 304 852 4	37 37 37 37 3 3 3 3 3 3 3 3 3 3 4 6 2 6 2 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8 24 8 48 48 16 9,696	59.90 10.82 10.26 14.55 41.93 41.93 41.53 59.90 10.82 10.26 14.56 14.56 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 16.82 16	6.205.66 4.11.12 5.81,136,93 5
roreign - Individuals roreign - Frivate Sector roreign - Government Subtotals endments endme	1 1 11 5 5 4,062 1 111 961 1 1 1 5 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 111 961 12518 1 1 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2 2 6 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 3 15 9 10,797 240 80 1,824 608 5,112 1,704 8 8 48 8	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.82 10.26 14.56 43.93 43	6.205.6 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4
oreign - Individuals oreign- Private Sector oreign- Covernment Subtotals oreign- Individuals oreign- Individuals oreign- Covernment Subtotals oreign- Gecordkeeping orenment Reporting Secordkeeping orenment Seporting Secordkeeping orenment Seporting Secordkeeping orenment Seporting Secordkeeping orenment Seporting Secordkeeping Subtotals subtotals orenorment Superorium Secordkeeping Subtotals sudd Performment Subtotals	1 1 1 1 1 5 5 6 6 6 6 6 6 6 6 6 6 6 6 6	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 1111 961 12,518 1 5 3 3,399 40 40 304 852 4	37 37 37 37 3 3 3 3 3 3 3 3 3 3 4 6 2 6 2 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8 24 8 48 48 16 9,696	59.90 10.82 10.26 14.55 41.93 41.93 41.53 59.90 10.82 10.26 14.56 14.56 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 14.59 16.82 16	6.205.65 4.41.41.41.41.41.41.41.41.41.41.41.41.41
roreign - Individuals roreign - Private Sector roreign - Government Subtotals endments didividuals rivate Sector Sovernment Overnment Overnment Overnment Overnment Sovernment Overnment Sovernment Sovernment Sovernment Subtotals Sovernment Sovernmen	1 1 1 1 1 5 5 4,062 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 111 961 2.518 1 5 3 3,599 40 40 304 852 4 4 8 1,212	37 37 37 37 3 3 3 3 3 3 3 3 4 6 2 6 2 6 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 9 10,797 240 80 1,824 608 5,112 1,704 24 8 8 48 16 9,696	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.82 10.26 14.56 14.50 10.82 10.26 14.50 10.82 10.26 14.50 10.82 10.26 14.50 10.82 10.26 10.82 10.26 10.82 10	6.205.6.205.6.405.405.405.405.405.405.405.405.405.405
Foreign - Individuals Foreign - Private Sector Foreign -	1 1 1 1 1 5 5 6 6 6 6 6 6 6 6 6 6 6 6 6	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 11 5 4,062 1111 961 12,518 1 5 3 3,399 40 40 304 852 4	37 37 37 37 3 3 3 3 3 3 3 3 3 3 3 4 6 2 6 2 2 6 2 2	103,600 37 407 185 150,294 185 150,294 333 2,883 7,554 3 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8 8 48 48 48 48 48 48 48 48 48 48 48 4	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.26 14.56 14.56 14.56 14.59 43.93 43.93 41.53 59.90 10.26 14.56 14.56 14.56 14.50 14.50 14.50 14.50 14.50 16.20 16	6,205.6.5 \$4.4 \$4.1 \$4.1 \$4.1 \$5.136.9
Foreign - Individuals Foreign - Frivate Sector Foreign - Government Subtotals endments Individuals Frivate Sector Foreign - Individuals Frivate Sector Foreign - Frivate Sector Foreign - Frivate Sector Foreign - Frivate Sector Foreign - Foreign - Foreign - Frivate Subtotals arterly Performance Reports Inviduals Reporting Recordkeeping Recordkeeping Recordkeeping Recordkeeping Reporting Recordkeeping	1 1 1 1 1 5 5 4,062 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 111 961 2.518 1 5 3 3,599 40 40 304 852 4 4 8 1,212	37 37 37 37 3 3 3 3 3 3 3 3 4 6 2 6 2 6 2 6 2	103,600 37 407 185 150,294 333 2,883 7,554 3 15 9 9 10,797 240 80 1,824 608 5,112 1,704 24 8 8 48 16 9,696	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.82 10.26 14.56 14.50 10.82 10.26 14.50 10.82 10.26 14.50 10.82 10.26 14.50 10.82 10.26 10.82 10.26 10.82 10	6,205.6.5 \$4.4 \$4.1 \$4.1 \$4.1 \$5.136.9
oreign - Individuals endments erreign - Endments erreign - Endments endments erreign - Endments endments erreign - Endments endme	1 1 1 1 1 5 5 4 4062 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 111 5 4,062 1111 961 115 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	37 37 37 37 3 3 3 3 3 3 3 3 3 3 3 4 6 2 6 2 2 6 2 2	103,600 37 407 185 150,294 185 150,294 333 2,883 7,554 3 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8 8 48 48 48 48 48 48 48 48 48 48 48 4	59.90 10.82 10.26 14.55 43.93 41.53 59.90 10.26 14.56 14.56 14.56 14.59 43.93 43.93 41.53 59.90 10.26 14.56 14.56 14.56 14.50 14.50 14.50 14.50 14.50 16.20 16	6,205.6.5 4,625.6.5 4,625.6.5 4,625.6.5 4,625.6.5 4,626.
nendments Inchriduals Private Sector Government Foreign - Individuals Foreign - Private Sector Foreign - Government Subtotals Sector - Subtotals S	1 1 1 1 1 5 5 4,062 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4	1 11 5 4,062 111 961 2.518 1 5 3 3,599 40 40 304 852 4 4 8 1,212	37 37 37 37 3 3 3 3 3 3 3 3 3 3 3 4 6 2 6 2 2 6 2 2 6 2 2	103,600 37 407 185 150,294 333 2,883 7,554 3 3 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8 8 48 48 48 48 48 48 48 48 48 48 48 4	59.90 10.82 10.26 14.55 43.93 41.53 41.53 43.93 41.53 10.26 14.56	1,72A0 6,005.6,005
Foreign - Individuals Foreign - Private Sector Foreign - Government Subtotals endments Individuals Frivate Sector Foreign - Individuals Frivate Sector Foreign - Individuals Frivate Sector Foreign - Foreign - Government Subtotals arterly Performance Reports Inviduals Reporting Recordkeeping Rec	1 1 1 1 1 5 5 4 4062 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 111 5 4,062 1111 961 115 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2 2 6 2 6 2 2 6 2 2 6 2 2	103,600 37 407 185 150,294 333 2,883 7,554 3 3 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8 8 48 16 9,696 4,080 1,380 33,300 33,360	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.26 14.56 15.56 15.56 16	6,205.6.5 \$4.4 4.1 4.1 4.1 4.1 4.1 4.1 4.
Foreign - Individuals Foreign - Private Sector Foreign -	1 1 1 1 1 5 5 4 4062 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 111 5 4,062 1111 961 115 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	37 37 37 37 3 3 3 3 3 3 3 3 3 4 6 2 2 6 2 6 2 2 6 2 2 6 2 2	103,600 37 407 185 150,294 333 2,883 7,554 3 3 15 9 10,797 240 80 1,824 608 5,112 1,704 24 8 8 48 16 9,696 4,080 1,380 33,300 33,360	59.90 10.82 10.26 14.56 43.93 41.53 59.90 10.26 14.56 15.56 15.56 16	6,205.6.5 \$4.4 4.1 4.1 4.1 4.1 4.1 4.1 4.

Annual No. of Number of Respondents Submissions Each Total Annual Responses Response (Hours) Annual Burden Hours Burden Hours

Respondents Submissions Each Total Annual Responses Response (Hours) Annual Burden Hours Burden Hours

Response (Hours) Annual Burden Hours Burden Hours

Response (Hours) Annual Burden Hours

Response (Hours) Annual Rurden Hours

Response (Hours)

Reporting	10 1	10	24	240	10.26		
Recordkeeping	10	· ·	10	8	80	10.26	\$820.80
Foreign - Government							
Reporting	10		10	24	240	14.56	\$3,494.40
Recordkeeping	10	1	10	8	80	14.56	
Subtotals:	5,943		5,943		190,176		\$10,308,643.84
Totals:	13,907		14,816		360,963		\$19,557,660.49

Removed 15.633 Landowner Incentive from 12.4 All Other Programs. Assistance Listing program archive Removed 15.656 Recovery Act Funds from 12.4 All Other Programs. Assistance Listing program archivec Added 15.069 Zoonotic Disease Initiative to 12.4 All Other Programs. This is a new program that is no lo Added 15.685 National Fish Passage to 12.4 All Other Programs. This program was previously reported a Added 15.686 National Fish Habitat Partnership to 12.4 All Other Programs. This program was previously Adjusted burden estimates due to increase in FWS financial assistance as a result of Infrastructure Inves

IC Title	Current Responses
Applications - All Other Programs (Individuals)	122
Applications - All Other Programs (Private Sector)	1,043
Applications - All Other Programs (Government)	2,775
Amendments - All Other Programs (Individuals)	110
Amendments - All Other Programs (Private Sector)	935
Amendments - All Other Programs (Government)	2,500
Quarterly Performance Reports - All Other Programs (Private Sector)	300
Quarterly Performance Reports - All Other Programs (Government)	848
Annual Performance Reports - All Other Programs (Private Sector)	1,482
Annual Performance Reports - All Other Programs (Government)	4,047
- 1 Al	

Total Change

ed on SAM.gov in FY23. Reduced burden estimates to reflect closing of the 3 and 1 on SAM.gov in FY22. Reduce burden estimates to reflect closing of 1 award purger funded. Funding was rescinded by the Fiscal Responsibility Act of 2023. Cas a subprogram under 15.608. Burden estimates are not changed by this movey reported as a subprogram under 15.608. Burden estimates are not changed at the stimates based on FY23 actives.

Current Hours	Updated Responses	Updated Hours
4,514	123	4,551
38,591	1,122	41,514
102,675	2,800	103,600
330	111	333
2,805	961	2,883
7,500	2,518	7,554
2,400	304	2,432
6,784	852	6,816
47,424	1,640	52,480
129,504	4,112	131,584
	381	11,220

wards pending closeout reports as of our previous clearance.

ending closeout reports as of our previous clearance.

collection is limited to post-award requirements for the 21 awards issued before recission.

e from 15.608 subprogram to stand-alone program.

by this move from 15.608 subprogram to stand-alone program.

ivity under the 14 Assistance Listing programs identified on tab 12.4 with "BIL funding").

Change Description

BIL funding (+1)

BIL funding (+79)

BIL funding (+25)

New 15.069 (+1)

New 15.069 (+1), BIL funding (+25) = +26 responses

New 15.069 (+3), BIL funding (+15) = +18 responses

BIL funding (+1 x 4)

New 15.069 (+1 x 4)

15.633 archive (-1), new 15.069 (+1), BIL funding (+158) = +158 responses

15.633 archive (-2), 15.656 archive (-1), new 15.069 (+18), BIL funding (+50) = +65 responses

		Number of
Collection*	Annual No. of Respondents	Submissions Each
15.605 Sport Fish Restoration (50 CFR 80)	Кезропасиез	Lacii
15.611 Wildlife Restoration and Basic Hunter Education (50 CFR 80)		
15.616 Clean Vessel Act (50 CFR 85)		
15.622 Sportfishing and Boating Safety Act (50 CFR 80)		
15.626 Enhanced Hunter Education and Safety (50 CFR 80)		
State Agency Hunting and Sport Fishing License Certification (50 CFR §80.31)		
Government		
Reporting		
Recordkeeping	56	1
Subtotals:	56	
Notice of Annual Apportionment Nonacceptance (50 CFR §80.12) NEW		
Government		
Reporting	1	1
Recordkeeping	1	1
Subtotals:	1	
State Agency Hunting and Sport Fishing License Certification Revision (50 CFR §80.39) N	IEW	
Government		
Reporting	1	1
Recordkeeping	_	
Subtotals:	1	
Voluntary Display of Program Symbols (50 CFR §80.100) NEW Government		
Reporting		
Recordkeeping	56	12
Subtotals:	56	
Required Display of CVA Program Symbol, Slogan, & Information (50 CFR §§85.16, 85.6		,
Government	70, 03.04) INEVV	
Reporting		
Recordkeeping	56	1.65
	56	
Subtotals:	50	

Total Annual Responses	Completion Time per Response (Hours)	Annual Burden Hours	Hourly Labor Costs (Incl. Benefits)	Dollar Value of Annual Burden Hours
56	10	560	59.90	\$33,544.00
30	2	112	59.90	\$6,708.80
56		672		\$40,252.80
1	1	1	59.90	\$29.95
1	1	1	59.90	\$59.90
1		2		\$89.85
1	10	10	59.90	\$599.00
-	2	2	59.90	\$119.80
1		12		\$718.80
672	0.25	168	59.90	\$10,063.20
	0	0	59.90	\$0.00
672		168		\$10,063.20
				10-70
92	0.5	46	59.90	\$2,767.38
	0	0	59.90	\$0.00
92		46		\$2,767.38
822		900		\$53,892.03

* **Note:** The collection of applications, amendments, reporting and recordkeeping under the below listed programs are reported with 12.4 "All Other Programs". Other 50 CFR subchapter F, Financial Assistance—Wildlife and Sport Fish Restoration Program-related collections for these programs are reported here.

Changed the name of the 12.5 burden group from "1018-0007 License Certification" to "50 CFR Additional" Added four new ICRs for collections

Note: The collection of applications, amendments, reporting and recordkeeping under Wildlife and Sport Fish F, Financial Assistance—Wildlife and Sport Fish Restoration Program-related collections.

IC Title

Notice of Annual Apportionment Nonacceptance 50 CFR 80 (Government) **NEW**State Agency Hunting and Sport Fishing License Certification Revision 50 CFR 80 (Government) **NEW**Voluntary Display of Program Symbols 50 CFR 80 (Government) **NEW**Required Display of CVA Program Symbol, Slogan, & Information 50 CFR 85 (Government) **NEW**

Totals

n Restoration programs are reported with 12.4 "All Other Programs". We are adding 4 new ICRs to the

Current Responses	Current Hours	Updated Responses	Updated Hours
		1	2
		1	12
		672	168
		92	46
0	0	766	228

2 12.5 group to cover other 50 CFR subchapter

Change Description

Collection per 50 CFR §80.12 Collection per 50 CFR §80.39 Collection per 50 CFR §80.100

Collection per 50 CFR §§85.16, 85.63, 85.64

```
IC Title
```

Amendments - All Other Programs (Foreign - Government)

Amendments - All Other Programs (Foreign - Individuals)

Amendments - All Other Programs (Foreign - Private Sector)

Amendments - All Other Programs (Government)

Amendments - All Other Programs (Individuals)

Amendments - All Other Programs (Private Sector)

Amendments - International Affairs (Foreign - Government)

Amendments - International Affairs (Foreign - Individuals)

Amendments - International Affairs (Foreign - Private Sector)

Amendments - International Affairs (Government)

Amendments - International Affairs (Individuals)

Amendments - International Affairs (Private Sector)

Amendments - NAWCA (Canada - Private Sector)

Amendments - NAWCA (Government)

Amendments - NAWCA (Individuals)

Amendments - NAWCA (Mexico - Government)

Amendments - NAWCA (Mexico - Individuals)

Amendments - NAWCA (Mexico - Private Sector)

Amendments - NAWCA (Private Sector)

Amendments - NMBCA (Foreign - Government)

Amendments - NMBCA (Foreign - Individuals)

Amendments - NMBCA (Foreign - Private Sector)

Amendments - NMBCA (Government)

Amendments - NMBCA (Individuals)

Amendments - NMBCA (Private Sector)

Annual Performance Reports - All Other Programs (Foreign - Government)

Annual Performance Reports - All Other Programs (Foreign - Individuals)

Annual Performance Reports - All Other Programs (Foreign - Private Sector)

Annual Performance Reports - All Other Programs (Government)

Annual Performance Reports - All Other Programs (Individuals)

Annual Performance Reports - All Other Programs (Private Sector)

Annual Performance Reports - International Affairs (Foreign - Government)

Annual Performance Reports - International Affairs (Foreign - Individuals)

Annual Performance Reports - International Affairs (Foreign - Private Sector)

Annual Performance Reports - International Affairs (Government)

Annual Performance Reports - International Affairs (Individuals)

Annual Performance Reports - International Affairs (Private Sector)

Annual Performance Reports - NAWCA (Private Sector)

Annual Performance Reports - NAWCA (Canada - Private Sector)

Annual Performance Reports - NAWCA (Government)

Annual Performance Reports - NAWCA (Individuals)

Annual Performance Reports - NAWCA (Mexico - Government)

Annual Performance Reports - NAWCA (Mexico - Individuals)

Annual Performance Reports - NAWCA (Mexico - Private Sector)

Annual Performance Reports - NMBCA (Foreign - Government)

Annual Performance Reports - NMBCA (Foreign - Individuals)

```
Annual Performance Reports - NMBCA (Foreign - Private Sector)
Annual Performance Reports - NMBCA (Government)
Annual Performance Reports - NMBCA (Individuals)
Annual Performance Reports - NMBCA (Private Sector)
Applications - All Other Programs (Foreign - Government)
Applications - All Other Programs (Foreign - Individuals)
Applications - All Other Programs (Foreign - Private Sector)
Applications - All Other Programs (Government)
Applications - All Other Programs (Individuals)
Applications - All Other Programs (Private Sector)
Applications - International Affairs (Foreign - Government)
Applications - International Affairs (Foreign - Individuals)
Applications - International Affairs (Foreign - Private Sector)
Applications - International Affairs (Government)
Applications - International Affairs (Individuals)
Applications - International Affairs (Private Sector)
Applications - NAWCA Canada/Mexico Standard Grant (Canada - Private Sector)
Applications - NAWCA Canada/Mexico Standard Grant (Mexico - Government)
Applications - NAWCA Canada/Mexico Standard Grant (Mexico - Individuals)
Applications - NAWCA Canada/Mexico Standard Grant (Mexico - Private Sector)
Applications - NAWCA U.S. Small Grant (Government)
Applications - NAWCA U.S. Small Grant (Individuals)
Applications - NAWCA U.S. Small Grant (Private Sector)
Applications - NAWCA U.S. Standard Grant (Government)
Applications - NAWCA U.S. Standard Grant (Individuals)
Applications - NAWCA U.S. Standard Grant (Private Sector)
Applications - NMBCA (Foreign - Government)
Applications - NMBCA (Foreign - Individuals)
Applications - NMBCA (Foreign - Private Sector)
Applications - NMBCA (Government)
Applications - NMBCA (Individuals)
Applications - NMBCA (Private Sector)
Quarterly Performance Reports - All Other Programs (Foreign - Government)
Quarterly Performance Reports - All Other Programs (Foreign - Individuals)
Quarterly Performance Reports - All Other Programs (Foreign - Private Sector)
Quarterly Performance Reports - All Other Programs (Government)
Quarterly Performance Reports - All Other Programs (Individuals)
Quarterly Performance Reports - All Other Programs (Private Sector)
Quarterly Performance Reports - International Affairs (Foreign - Government)
Quarterly Performance Reports - International Affairs (Foreign - Individuals)
Quarterly Performance Reports - International Affairs (Foreign - Private Sector)
Quarterly Performance Reports - International Affairs (Government)
Quarterly Performance Reports - International Affairs (Individuals)
Quarterly Performance Reports - International Affairs (Private Sector)
Quarterly Performance Reports - NAWCA (Canada - Private Sector)
Quarterly Performance Reports - NAWCA (Government)
```

Quarterly Performance Reports - NAWCA (Individuals)

Quarterly Performance Reports - NAWCA (Mexico - Government)

Quarterly Performance Reports - NAWCA (Mexico - Individuals)

Quarterly Performance Reports - NAWCA (Mexico - Private Sector)

Quarterly Performance Reports - NAWCA (Private Sector)

Quarterly Performance Reports - NMBCA (Foreign - Government)

Quarterly Performance Reports - NMBCA (Foreign - Individuals)

Quarterly Performance Reports - NMBCA (Foreign - Private Sector)

Quarterly Performance Reports - NMBCA (Government)

Quarterly Performance Reports - NMBCA (Individuals)

Quarterly Performance Reports - NMBCA (Private Sector)

State Agency Hunting and Sport Fishing License Certification (Government)

Notice of Annual Apportionment Nonacceptance (Government)

State Agency Hunting and Sport Fishing License Certification Revision (Government)

Voluntary Display of Program Symbols (Government)

Required Display of CVA Program Symbol, Slogan, & Information (Government)

Modified 3 9 0 Modified 1 3 0 Modified 2500 7500 0 Modified 110 330 0 Modified 110 330 0 Modified 935 2805 0 New 4 12 0 New 1 3 0 Mew 12 36 0 Modified 2 6 0 New 1 3 0 Modified 4 12 0 Modified 4 12 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 <th>Previous Status</th> <th>Previous Responses</th> <th>Previous Hours</th> <th>Dollars</th>	Previous Status	Previous Responses	Previous Hours	Dollars
Modified 5 15 0 Modified 2500 7500 0 Modified 110 330 0 Modified 935 2805 0 New 1 3 0 New 12 36 0 Modified 2 6 0 New 1 3 0 Modified 45 45 0 Modified 4 12 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 Modified 4 12 0 Modified 4 12 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 New 1 3 0 New 1 3 0	Modified	3	9	0
Modified 2500 7500 0 Modified 110 330 0 Modified 935 2805 0 New 4 12 0 New 1 3 0 Modified 2 6 0 New 1 3 0 Modified 45 0 0 Modified 4 12 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 Modified 4 12 0 Modified 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 New 1 3 0 New 1 3 0 New 1 32 0	Modified	1	3	0
Modified 110 330 0 Modified 935 2805 0 New 4 12 0 New 1 3 0 New 12 36 0 Modified 2 6 0 New 1 3 0 Modified 45 0 0 Modified 8 24 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 Modified 4 12 0 Modified 4 12 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 New 1 3 0 New 1 3 0 New 1 32 0 <t< td=""><td>Modified</td><td>5</td><td>15</td><td>0</td></t<>	Modified	5	15	0
Modified 935 2805 0 New 4 12 0 New 1 36 0 New 12 36 0 Modified 2 6 0 New 1 3 0 Modified 4 12 0 Modified 8 24 0 Modified 4 12 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 New 1 3 0 New 1 32 0 Modified 1 32 0 Modified 1 32 0	Modified	2500	7500	0
New 4 12 0 New 1 3 0 Modified 2 6 0 Modified 1 3 0 Modified 15 45 0 Modified 4 12 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 Modified 4 12 0 Modified 8 24 0 Modified 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 New 1 3 0 New 1 3 0 Modified 10 320 0 Modified 404 129504 0 Modified 404 129504 0 </td <td>Modified</td> <td>110</td> <td>330</td> <td>0</td>	Modified	110	330	0
New 1 3 0 New 12 36 0 Modified 2 6 0 New 1 3 0 Modified 15 45 0 Modified 4 12 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 Modified 4 12 0 New 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 New 1 3 0 Modified 1 32 0 Modified 1 32 0 Modified 4047 129504 0 Modified 4047 129504 0	Modified	935	2805	0
New 12 36 0 Modified 2 6 0 New 1 3 0 Modified 15 45 0 Modified 8 24 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 Modified 4 12 0 Modified 8 24 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 New 1 3 0 Modified 1 3 0 Modified 1 32 0 Modified 1 32 0 Modified 4047 129504 0 Modified 4047 129504 0	New	4	12	0
Modified 2 6 0 New 1 3 0 Modified 15 45 0 Modified 4 12 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 Modified 8 24 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 New 1 3 0 New 1 3 0 Modified 10 320 0 Modified 10 320 0 Modified 4047 129504 0 Modified 4047 129504 0 Modified 4047 129504 <t< td=""><td>New</td><td>1</td><td>3</td><td>0</td></t<>	New	1	3	0
New 1 3 0 Modified 15 45 0 Modified 8 24 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 New 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 New 1 3 0 New 1 3 0 Modified 10 320 0 Modified 1 32 0 Modified 10 320 0 Modified 4047 129504 0 Modified 1482 47424 0 New 2 64 0 <td>New</td> <td>12</td> <td>36</td> <td>0</td>	New	12	36	0
Modified 15 45 0 Modified 4 12 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 New 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 Modified 1 3 0 New 1 3 0 New 1 3 0 New 1 3 0 Modified 10 320 0 Modified 10 320 0 Modified 4047 129504 0 Modified 4047 129504 0 New 2 64 0 New 2 64 0	Modified	2	6	0
Modified 4 12 0 Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 New 4 12 0 New 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 Modified 15 45 0 New 1 3 0 New 1 3 0 Modified 10 320 0 Modified 1 32 0 Modified 10 320 0 Modified 4047 129504 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 2 64 0	New	1	3	0
Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 New 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 Modified 15 45 0 New 1 3 0 New 1 3 0 New 1 3 0 Modified 10 320 0 Modified 1 32 0 Modified 1 32 0 Modified 4047 129504 0 Modified 4047 129504 0 Modified 1482 47424 0 New 1 320 0 New 2 64 0 New 2 64 0	Modified	15	45	0
Modified 8 24 0 Modified 4 12 0 Modified 4 12 0 New 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 Modified 15 45 0 New 1 3 0 New 1 3 0 New 1 32 0 Modified 10 320 0 Modified 1 32 0 Modified 4047 129504 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 2 64 0 Modified 75 2400 0 <td>Modified</td> <td>4</td> <td>12</td> <td>0</td>	Modified	4	12	0
Modified 4 12 0 Mew 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 1 3 0 Modified 15 45 0 New 1 3 0 Modified 10 320 0 Modified 1 32 0 Modified 4047 129504 0 Modified 4047 129504 0 Modified 170 5440 0 New 10 320 0 New 2 64 0 New 2 64 0 Modified 75 2400 0	Modified	8	24	0
Modified 4 12 0 New 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 15 45 0 New 1 3 0 New 1 3 0 New 15 45 0 Modified 10 320 0 Modified 1 32 0 Modified 10 320 0 Modified 4047 129504 0 Modified 4047 129504 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 2 64 0 Modified 5 160 0 Modified 10 320 0 <td>Modified</td> <td>8</td> <td>24</td> <td>0</td>	Modified	8	24	0
New 4 12 0 Modified 8 24 0 Modified 1 3 0 Modified 15 45 0 New 1 3 0 New 1 3 0 New 15 45 0 Modified 10 320 0 Modified 1 32 0 Modified 1 32 0 Modified 10 320 0 Modified 4047 129504 0 Modified 4047 129504 0 Modified 170 5440 0 New 10 320 0 New 2 64 0 New 2 64 0 Modified 5 160 0 Modified 75 2400 0 Modified 2 64 0	Modified	4	12	0
Modified 8 24 0 Modified 1 3 0 Modified 15 45 0 New 1 3 0 New 1 3 0 New 15 45 0 Modified 10 320 0 Modified 1 32 0 Modified 1 32 0 Modified 1 320 0 Modified 4047 129504 0 Modified 4047 129504 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 4 128 0 Modified 4 128 <td< td=""><td>Modified</td><td>4</td><td>12</td><td>0</td></td<>	Modified	4	12	0
Modified 1 3 0 Modified 15 45 0 New 1 3 0 New 1 3 0 New 15 45 0 Modified 10 320 0 Modified 1 32 0 Modified 10 320 0 Modified 4047 129504 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 85 2720 0 Modified 4 128 0 Modified 4 128 0 Modified 2 64 0 <td>New</td> <td>4</td> <td>12</td> <td>0</td>	New	4	12	0
Modified 1 3 0 Modified 15 45 0 New 1 3 0 New 1 3 0 New 15 45 0 Modified 10 320 0 Modified 10 320 0 Modified 4047 129504 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 5 2400 0 Modified 10 320 0 Modified 2 64 0 Modified 4 128 0 Modified 2 64 0 <td>Modified</td> <td>8</td> <td>24</td> <td>0</td>	Modified	8	24	0
Modified 15 45 0 New 1 3 0 New 15 45 0 Modified 10 320 0 Modified 1 32 0 Modified 4047 129504 0 Modified 4047 129504 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 85 2720 0 Modified 32 64 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 Modified 2 64	Modified	1	3	0
New 1 3 0 New 1 3 0 New 15 45 0 Modified 10 320 0 Modified 10 320 0 Modified 4047 129504 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 Modified 75 2400 0 Modified 85 2720 0 Modified 20 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 Modified 2 64 0 Modified 2 64	Modified	1	3	0
New 1 3 0 New 15 45 0 Modified 10 320 0 Modified 1 32 0 Modified 10 320 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 20 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 Modified 2 64 0 Modified 2 64 0<	Modified	15	45	0
New 15 45 0 Modified 10 320 0 Modified 1 32 0 Modified 10 320 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 2 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 2 64 0 New 10 320 0 </td <td>New</td> <td>1</td> <td>3</td> <td>0</td>	New	1	3	0
Modified 10 320 0 Modified 1 32 0 Modified 4047 129504 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 2 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 2 64 0 New 10 320	New	1	3	0
Modified 1 32 0 Modified 10 320 0 Modified 4047 129504 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 2 640 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 2 64 0 New 10 320 0 New 10 320	New	15	45	0
Modified 10 320 0 Modified 4047 129504 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	10	320	0
Modified 4047 129504 0 Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	1	32	0
Modified 170 5440 0 Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 320 0	Modified	10	320	0
Modified 1482 47424 0 New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 2 640 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	4047	129504	0
New 10 320 0 New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	170	5440	0
New 2 64 0 New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	1482	47424	0
New 80 2560 0 Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 20 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	New	10	320	0
Modified 5 160 0 New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 20 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	New	2	64	0
New 2 64 0 Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 20 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	New	80	2560	0
Modified 75 2400 0 Modified 85 2720 0 Modified 10 320 0 Modified 20 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	5	160	0
Modified 85 2720 0 Modified 10 320 0 Modified 20 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	New	2	64	0
Modified 10 320 0 Modified 20 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	75	2400	0
Modified 20 640 0 Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	85	2720	0
Modified 4 128 0 Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	10	320	0
Modified 2 64 0 Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	20	640	0
Modified 2 64 0 New 10 320 0 Modified 1 32 0	Modified	4	128	0
New 10 320 0 Modified 1 32 0	Modified	2	64	0
Modified 1 32 0	Modified	2	64	0
	New	10	320	0
Modified 1 32 0	Modified	1	32	0
	Modified	1	32	0

Modified	20	640	0
New	1	32	0
New	1	32	0
New	10	320	0
Modified	5	185	0
Modified	1	37	0
Modified	11	407	0
Modified	2775	102675	0
Modified	122	4514	0
Modified	1043	38591	0
New	15	330	0
New	3	66	0
New	232	5104	0
Modified	8	176	0
New	3	66	0
Modified	309	6798	0
Modified	9	720	0
Modified	4	320	0
Modified	1	80	0
New	13	1040	0
Modified	16	640	0
Modified	1	40	0
Modified	54	2160	0
Modified	15	1500	0
Modified	1	100	0
Modified	53	5300	0
Modified	1	60	0
Modified	1	60	0
Modified	30	1800	0
New	1	60	0
New	1	60	0
New	20	1200	0
Modified	8	64	0
Modified	4	32	0
Modified	4	32	0
Modified	848	6784	0
Modified	40	320	0
Modified	300	2400	0
New	4	32	0
New	4	32	0
New	12	96	0
Modified	4	32	0
New	4	32	0
Modified	12	96	0
Modified	24	192	0
Modified	40	320	0
Modified	8	64	0

Modified	4	32	0
Modified	4	32	0
New	20	160	0
Modified	128	1024	0
Modified	4	32	0
Modified	4	32	0
Modified	4	32	0
New	4	32	0
New	4	32	0
New	4	32	0
New	56	672	0

Document Type

Form No.

Form Name

Revised Status

Unmodified

Unmodified

Unmodified

Modified

Modified

Modified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Ommounice

Unmodified Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified Unmodified

.......

Unmodified

Unmodified

Modified

Unmodified

Modified

Unmodified

Unmodified

Modified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Modified

Modified

Modified

Unmodified

Unmodified Unmodified

Unmodified

Unmodified

Unmodified

omnoamea

Unmodified

Unmodified Unmodified

Unmodified

Unmodified

Unmodified

Modified

Unmodified

Modified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified

Unmodified Unmodified Unmodified Unmodified Unmodified Unmodified Unmodified Unmodified Unmodified Unmodified New New

Form and Instruction

3-154

State Fish and Wildlife Agency Hunting Unmodified

New

New

Change

D. C. ID.	Desired Herrin
Revised Responses	Revised Hours
3	9
5	3 15
2518	7554
111	333
961	2883
4	
1	3
12	36
2	6
1	3
15	45
4	
8	24
8	24
4	
4 4	
8	24
1	3
1	3
15	45
1	3
1	3
15	45
10	320
1	32
10	
4112	131584
170	5440
1640	52480
10 2	320 64
79	2528
5	160
2	
- 75	2400
85	2720
10	320
20	640
4	128
2	
2	
10	
1	32
1	32

	_
20	640
1	32
1	32
10 5	320 185
1	37
11	407
2800	103600
123	4551
1122	41514
15	330
3	66
232	5104
8	176
3	66
309	6798
9	720
4	320
1 13	80 1040
16	640
1	40
54	2160
15	1500
1	100
53	5300
1	60
1	60
30	1800
1	60
1	60
20	1200
8	64
4	32 32
852	6816
40	320
304	2432
4	32
4	32
12	96
4	32
4	32
12	96
24	192
40	320
8	64

4	32
4	32
20	160
128	1024
4	32
4	32
4	32
4	32
4	32
4	32
56	672
1	2
1	12
672	168
92	46
17078	403086
1054	11416

Previous Clearance (60)

- 15.641 Wildlife Without Borders-Mexico
- 15.633 Landowner Incentive
- 15.656 Recovery Act Funds Habitat Enhancement, Restoration and Improvement
- 15.605 Sport Fish Restoration
- 15.608 Fish and Wildlife Management Assistance
- 15.611 Wildlife Restoration and Basic Hunter Education
- 15.614 Coastal Wetlands Planning, Protection and Restoration
- 15.615 Cooperative Endangered Species Conservation Fund
- 15.616 Clean Vessel Act
- 15.619 Rhinoceros and Tiger Conservation Fund
- 15.620 African Elephant Conservation Fund
- 15.621 Asian Elephant Conservation Fund
- 15.622 Sportfishing and Boating Safety Act
- 15.623 North American Wetlands Conservation Fund (NAWCA)
- 15.626 Enhanced Hunter Education and Safety
- 15.628 Multistate Conservation Grant
- 15.629 Great Apes Conservation Fund
- 15.630 Coastal
- 15.631 Partners for Fish and Wildlife
- 15.634 State Wildlife Grants
- 15.635 Neotropical Migratory Bird Conservation (NMBCA)
- 15.636 Alaska Subsistence Management
- 15.637 Migratory Bird Joint Ventures
- 15.639 Tribal Wildlife Grants
- 15.640 Wildlife Without Borders- Latin America and the Caribbean
- 15.643 Alaska Migratory Bird Co-Management Council
- 15.645 Marine Turtle Conservation Fund
- 15.647 Migratory Bird Conservation
- 15.648 Central Valley Project Improvement Act
- 15.649 Service Training and Technical Assistance
- 15.650 Research Grants (inactive program; collection limited to post-award requirements)
- 15.651 Wildlife Without Borders-Africa
- 15.652 Invasive Species (inactive program; collection limited to post-award requirements)
- 15.653 National Outreach and Communication
- 15.654 National Wildlife Refuge System Enhancements
- 15.655 Migratory Bird Monitoring, Assessment and Conservation
- 15.657 Endangered Species Recovery Implementation
- 15.658 Natural Resource Damage Assessment, Restoration and Implementation
- 15.660 Candidate Species Conservation
- 15.661 Lower Snake River Compensation Plan
- 15.662 Great Lakes Restoration
- 15.663 NFWF-USFWS Conservation Partnership
- 15.664 Fish and Wildlife Coordination and Assistance
- 15.665 National Wetlands Inventory

- 15.666 Endangered Species Conservation-Wolf Livestock Loss Compensation and Prevention
- 15.667 Highlands Conservation
- 15.668 Coastal Impact Assistance (sunset program; collection limited to post-award requirements)
- 15.669 Cooperative Landscape Conservation (inactive program; collection limited to post-award requirements)
- 15.670 Adaptive Science
- 15.671 Yukon River Salmon Research and Management Assistance
- 15.674 National Fire Plan-Wildland Urban Interface Community Fire Assistance
- 15.676 Youth Engagement, Education, and Employment
- 15.677 Hurricane Sandy Disaster Relief Activities-FWS
- 15.678 Cooperative Ecosystem Studies Units (inactive program; collection limited to post-award requirements)
- 15.679 Combating Wildlife Trafficking
- 15.680 Mexican Wolf Recovery
- 15.681 Cooperative Agriculture
- 15.682 Experienced Services
- 15.683 Prescott Marine Mammal Rescue Assistance
- 15.684 White-nose Syndrome National Response Implementation

This Clearance (60)

Removed. Program archived in FY23.

Removed. Program archived in FY23.

Removed. Program archived in FY22.

15.069 Zoonotic Disease Initiative (New program but no new funding.Rescinded by Fiscal Responsibility Act of 2023. Collection limited to post-award requirements only.)

15.685 National Fish Passage (Previously 15.608 subprogram)

15.686 National Fish Habitat Partnership (Previously 15.608 subprogram)

15.605 Sport Fish Restoration

15.608 Fish and Wildlife Management Assistance

15.611 Wildlife Restoration and Basic Hunter Education

15.614 Coastal Wetlands Planning, Protection and Restoration

15.615 Cooperative Endangered Species Conservation Fund

15.616 Clean Vessel Act

15.619 Rhinoceros and Tiger Conservation Fund

15.620 African Elephant Conservation Fund

15.621 Asian Elephant Conservation Fund

15.622 Sportfishing and Boating Safety Act

15.623 North American Wetlands Conservation Fund (NAWCA)

15.626 Enhanced Hunter Education and Safety

15.628 Multistate Conservation Grant

15.629 Great Apes Conservation Fund

15.630 Coastal

15.631 Partners for Fish and Wildlife

15.634 State Wildlife Grants

15.635 Neotropical Migratory Bird Conservation (NMBCA)

15.636 Alaska Subsistence Management

15.637 Migratory Bird Joint Ventures

15.639 Tribal Wildlife Grants

15.640 Wildlife Without Borders- Latin America and the Caribbean

15.643 Alaska Migratory Bird Co-Management Council

15.645 Marine Turtle Conservation Fund

15.647 Migratory Bird Conservation

15.648 Central Valley Project Improvement Act

15.649 Service Training and Technical Assistance

15.650 Research Grants (inactive program; collection limited to post-award requirements)

15.651 Wildlife Without Borders-Africa

15.652 Invasive Species (inactive program; collection limited to post-award requirements)

15.653 National Outreach and Communication

15.654 National Wildlife Refuge System Enhancements

15.655 Migratory Bird Monitoring, Assessment and Conservation

15.657 Endangered Species Recovery Implementation

15.658 Natural Resource Damage Assessment, Restoration and Implementation

15.660 Candidate Species Conservation

15.661 Lower Snake River Compensation Plan

15.662 Great Lakes Restoration

15.663 NFWF-USFWS Conservation Partnership

15.664 Fish and Wildlife Coordination and Assistance

15.665 National Wetlands Inventory

- 15.666 Endangered Species Conservation-Wolf Livestock Loss Compensation and Prevention
- 15.667 Highlands Conservation
- 15.668 Coastal Impact Assistance (sunset program; collection limited to post-award requirements)
- 15.669 Cooperative Landscape Conservation (inactive program; collection limited to post-award requirements)
- 15.670 Adaptive Science
- 15.671 Yukon River Salmon Research and Management Assistance
- 15.674 National Fire Plan-Wildland Urban Interface Community Fire Assistance
- 15.676 Youth Engagement, Education, and Employment
- 15.677 Hurricane Sandy Disaster Relief Activities-FWS
- 15.678 Cooperative Ecosystem Studies Units (inactive program; collection limited to post-award requirements)
- 15.679 Combating Wildlife Trafficking
- 15.680 Mexican Wolf Recovery
- 15.681 Cooperative Agriculture
- 15.682 Experienced Services
- 15.683 Prescott Marine Mammal Rescue Assistance
- 15.684 White-nose Syndrome National Response Implementation